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//Come on and get flag:>

var_ { @x4cl19cff: "random", ©x4728122: "charCodeAt",0x2138878: "substring", ©x3cad9c7b: "toString",

var$ = [ @x4cl9cff, Ox3cfbdéc, Oxb3f970, ©x4b9257a, ©x1409cc7, Ox46e990e,0x2138878, Ox1el049, 0Ox164a

vara, b, ¢, d, e, f, g, h, i, j, k, 1, my; n, o, p, q, r, s, t, u, v, w, X, y, Zz;

function check() {

var answer = document.getElementById("message").value;
var correct = (function() {
try{

h= new MersenneTwister(parselInt(btoa(answer[_[$[6]]](0, 4)), 32));
e= h[_[$[""+ +[1111O*(""+{})[_[0x4728122]](0OxC); for(var _1=0; 1<h.mti; _1++)
1= new MersenneTwister(e), v = true;
1l.random();1l.random(); 1.random();
o= answer.split("_");
i= l.mt[~~(h.random()*$[0Ox1f])%0OxFf];
s= ["ex" + i[_[$[$.1length/2]]](0x10), "Ox" + e[_[$[$.1length/2]]](0020).split("-
e=- (this[_[$[42]]1]1(_[$[31]]1(o[1])) ~ s[@]); if (-e != $[21]) return false;
er= (this[_[$[42]1]11C_[$[31]]1(o[2])) ~ s[1]); if (-e != $[22]) return false; e -
t= new MersenneTwister(Math.sqrt(-e));
h.random();
a= l.random();
t.random();
y= [ 0xb3f970, 0x4b9257a, 0x46e€990e ].map(function(i) { return $[_[$[40]]](1i)++
o[@]= o[@].substring(5); o[3] = o[3].substring(@, o[3].length - 1);
u= (a * i); if (o[@].length > 5) return false;
a= parselInt(_[$[23]]("1", Math.max(o[@].length, o[3].length)), 3) ~eval(_[$[31]
r= (h.random() * l.random() * t.random()) / (h.random() * 1l.random() *t.random(
efr= ~r;
r= (h.random() / l.random() / t.random()) / (h.random() * 1l.random() *t.random(
ef= ~~p;
a+= _[$[31]]1(o[3].substring(o[3].1length - 2)).split("x")[1]; if(parseInt(a.spli
d= parselInt(a, 16) == (Math.pow(2, 16)+ -5+ "") +0o[3].charCodeAt(o[3].length -

i= oxffff;
n= (p = (f = _[$[23]](0o[3].charAt(o[3].1length - 4), 3)) == o[3].substring(1,4))
g= 3;

t= _[$[23]](0o[3].charAt(3), 3) == o[3].substring(5, 8) &8&o[3].charCodeAt(1) * o
h= ((31249*g) & i).toString(16);
i= [$[31]1]1(0[3].split(f).join("").substring(0,2)).split("x")[1];
s= 1 == h;
return (p & t & s & d) ===1 || (p & t & s & d) === true;
}catch (e) {
console.log("gg");
return false;

NO;s

document.getElementById("message").placeholder= correct ? "correct" : "wrong";
if(correct) {

alert("Congratulations!you got it!");
} else {

alert("Sorry,you are wrong...");
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n=(p=(f =_[$[23]](0[3].charAt(o[3].1length - 4), 3)) == o[3].substring(1, 4));

_[$[23]]2 M2 alert— Rl A 22

function(_c, _d) { var _e =""; for(var _f=0; _f< d; _f++) { _e += _c; } return _e; } };
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o = answer.split("_");
o[@] = o[@].substring(5); o[3] =o[3].substring(@, o[3].length - 1);
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t = _[$[23]](o[3].charAt(3), 3) ==0[3].substring(5, 8) && o[3].charCodeAt(1) * o[@].charCodeAt(0) ==0x2ef3;
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h= ((31249*g) & i).toString(16);
i= [$[31]]1(o[3].split(f).join("").substring(@, 2)).split("x")[1];
s= i == h;

KB AL, toString(16)2 4 BB HON163ERI K w47 d3, S — T3 58h="6e33", 1m_[$[31]]Z

function(_9) {var _8 = []; for (var _a = 0, _b = 9.length; _a < _b; _a++) {_8.push(Number(_9.charCodeAt(_a

o AR RER AT OB AN PR N K ascii i Bl ,  FHERUR AT, Al EOXII S o Frit KA fg ) by
s2"eee B "www", KT IEELET N AF, 151 /2o[0][0]F10[0][3], 43 %t Riffjasciit /N ik il i A6e 133, X 4T Fo[0]
[0]='n"F110[0][3]="3".
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a = parseInt(_[$[23]]("1", Math.max(o[@].length,o[3].length)), 3) ~ eval(_[$[31]](o[@]));
a+= _[$[31]]1(0o[3].substring(o[3].1length - 2)).split("x")[1]; if(parseInt(a.split("84")[1], $.length/
d= parselnt(a, 16) == (Math.pow(2, 16)+ -5+ "") +o[3].charCodeAt(o[3].length - 3).toString(16) + "53

diETEaEfaf ¢, A RE, JEPrER AR PHE, Math.pow(2,16)+ -
5=65531, newDate().getFullYear() - 1=2015, &4 o[3][length-4]i{jasciifih 163kl ME & R E T BRBAXX
Aok /2 "65531XX538462015", #AJAHiEa, $.length/z50, 1X4]

if(parseInt(a.split("84")[1], $.length/2) != 0x4439feb) return false;
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if (o[@].length > 5) return false;
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s = ["ox" +i[_[$[$.1length/2]]](Ox10), "ox" + e[_[$[$.1length/2]]1](©020).split("-")[1]];
=- (this[_[$[42]]1]this[_[$[42]11(_[$[31]](o[1]))~ s[@]); if (-e != $[21]) return false;
e ~= (this[_[$[42]111(_[$[31]1]1(o[2])) ~s[1]); if (-e != $[22]) return false;
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HTs, FRTHA LT F AT, [S[42]Zeval, e=- [$[31](C[1])"s[0]=-$[21], F4 _[$[31]]
(o[1])=9[21]=0x697a, HfFo[1]="iz", T —IrE&EFEM EerfE 2 AN$[21], H 15 _[$[31]](c[2])
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